

Vendor Ranking						Page 1 of 1
Letting:	02210217	February 17, 2021 11:00 AM Cal	II Order:	003	Contract:	E2Z84-R0
District:	District 2	Co	unties:	DIST/ST-WIDE,	Fed Aid No:	: N/A
Contract Time:	365 CALEN			LAFAYETTE, MADISON,	Project(s):	41021557233 (*)
Contract Desc:	Large Machi	ine Mowing		TAYLOR		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ABC STUMPING INC.	Responsive	Winning bid	\$236,764.39	100.00%
2	T & D MOWING LLC	Responsive	Non-Winning Bid	\$245,146.40	103.54%
3	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$281,295.00	118.81%
4	SUWANNEE FOREST PRODUCTS, INC.	Responsive	Non-Winning Bid	\$300,629.80	126.97%
5	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$349,416.00	147.58%
	COLE-BON BUILDERS	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 3

Letting:	02210217	February 17, 2021	Call Order:	003	Contract:	E2Z84-R0
District:	District 2		Counties:	DIST/ST-WIDE,	Fed Aid No	: N/A
Contract Time:	365 CALEND	DAR DAYS		LAFAYETTE, MADISON,	Project(s):	41021557233 (*)
	Lorgo Mochir	a Mawing		TAYLOR		

Contract Descr: Large Machine Mowing

Provide all equipment, materials, labor, Maintenance of Traffic (MOT) and incidentals for litter removal, large machine mowing, intermediate machine mowing, and slope mowing of grass vegetation on various roadways. To include large machine mowing in the Department's Borrow Pits. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate Quantity Item Description Units	(1) ABC STUMPING INC.	(2) T & D MOWING LLC	(3) JT RUBY CONTRACTING SERVICE INC
() indicates item is bid as Lump Sum	Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount
SECTION: 0001 (LARGE MACH	HINE MOWING (AC		
0005 E104 4 1 8,853.000 MOWING (REGULAR/LARGE AC MACHINE)	11.00000 97,383.00	16.00000 141,648.00	13.50000 119,515.50
0010 E104 4 2 23.600 MOWING (SLOPE) AC	75.00000 1,770.00	32.00000 755.20	100.00000 2,360.00
0015 E104 4 308.800 MOWING (INTERMEDIATE MACHINE) AC	75.00000 23,160.00	37.00000 11,425.60	85.00000 26,248.00
0020 E110 30 15,219.600 LITTER REMOVAL AC	7.52000 114,451.39	6.00000 91,317.60	8.75000 133,171.50
0001 LARGE MACHINE Section Totals: MOWING (AC)	\$236,764.39	\$245,146.40	\$281,295.00

Contract Grand Totals:	\$236,764.39	\$245,146.40	281,295.00



Tabulation of Bids

Page 2 of 3

Letting: 02210217 Fe	ebruary 17, 20	021 Cal	I Order: 003		Contract:	E2Z84-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) SUWANNE PRODUC		(5) T & M LAV SERVIC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (I	LARGE MACH	INE MOWING (AC	;				
0005 E104 4 1 MOWING (REGULAR/LARG MACHINE)	8,853.000 GE AC	17.00000	150,501.00	20.00000	177,060.00		
0010 E104 4 2 MOWING (SLOPE)	23.600 AC	90.00000	2,124.00	200.00000	4,720.00		
0015 E104 4 4 MOWING (INTERMEDIATE MACHINE)	308.800 AC	85.00000	26,248.00	50.00000	15,440.00		
0020 E110 30 LITTER REMOVAL	15,219.600 AC	8.00000	121,756.80	10.00000	152,196.00		
0001 LARGE MACHINE Sec MOWING (AC)	tion Totals:		\$300,629.80		\$349,416.00		

otals: \$300,629.80 \$349,416.00	Contract Grand Totals:
----------------------------------	------------------------



Page 3 of 3

Letting:	02210217	February 17, 2021	Call Order: 003	Contract: E2Z84-R0			
NOTE: Eailure to file a protect within the time prescribed in section							

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.